From: gregsnyder@lowerchurchillproject.ca
To: kenmcclintock@lowerchurchillproject.ca

Cc: John Mulcahy

Subject: Re: CH0009 Team Evaluation

Date: Monday, June 8, 2015 3:02:50 PM

Attachments: \_\_png

.pnq

Contractor Team Evaluation barnard.xlsx Contractor Team Evaluation Dragados.xlsx

Here are the spreadsheets.

Greg



Contractor Team Evaluation barnard.xlsx



Contractor Team Evaluation Dragados.xlsx

Greg Snyder, FEC, P.Eng. Engineering Manager - Hydro PROJECT DELIVERY TEAM

**Lower Churchill Project** 

t. 709.733.4476 c. 709.351.6856

e. GregSnyder@lowerchurchillproject.ca

w. muskratfalls.nalcorenergy.com

You owe it to yourself, and your family, to make it home safely every day. What have you done today so that nobody gets hurt?

Ken McClintock---06/08/2015 02:34:31 PM---Hi Gents I agree with your scoring system for the project team. I do have a question on how we score

From: Ken McClintock/NLHydro

To: John Mulcahy/NLHydro@NLHYDRO, Greg Snyder/LCP/NLHydro@NLHYDRO,

Date: 06/08/2015 02:34 PM

Subject: CH0009 Team Evaluation

Hi Gents

I agree with your scoring system for the project team. I do have a question on how we scored the involvement/support of home office and I have a suggestion for adding to the spreadsheet the evaluation for the H&S/ Environmental and QA

folks. We can discuss Tuesday, together with the final wording I wish to record related to this element.

In the meantime, can one of you please send me the spreadsheet electronic copy. I should have taken it when you offered it last week!!!

Cheers Ken

8

0.7

5.6 Survey

## Contractor Team Evaluation - Barnard

Andrew Normore

Position	Name	Yrs Exp	Yrs Hydro	RCC	Sum	Weight	Score	Comments	
Project Manager	Matt Wagley	20	6	2	33		33		
Proj General Super	Tracey Chambers	28	6		37	1.3	48.1	RCC listed a exp	p but not in
Asst PM	Rob Hewitt	10	3		14.5	1	14.5		
Planner					0	1	0		
Project Controls	Sam Gunlock	8	7		18.5	1	18.5		
Earthworks Super	Dave Hunt	40	12	2	62	1.1	68.2		1
North Dam Manager	Dustin Burke	12	12	4	38	1.1	41.8		
North Dam Manager	Shaw Perrin	10	10	3	31	1.1	34.1	1 yr student exp	,
Survey Manager	Andrew Normore				0	0.7	0		
Equip Manager	Matt Study	3	3		7.5	0.7	5.25		
Supt 2					0	0.9	0		
Supt 3					0	0.9	0		
Supt 4					0	0.9	0		
Asst Supt					0	0.9	0		
Asst Supt					0	0.9	0		
Ttls	8	131	59	11	241.5	14.5	263.45		
							100		
Note:	Hydro voore count	1 E timos nor	hydro	Max =	263.45				
NOIE.	Hydro years count 1.5 times non-hydro "RCC" years count 2 times non-hydro								
	NCC years count	Z IIII 62 11011-	riyuro						

## Contractor Team Evaluation - Dragados

Position	Name	Yrs Exp	1.5 Yrs Hydro	RCC 2	Sum	Weight	Score	Comments
Project Manager	Justin Fillier	12	2	1	17	vveigitt 1		O'Connell
Proj General Super	Perry Gillingham	20	5	2	31.5	1.3		
Asst PM	Andrew Gilchrist	30			33		33	
	Andrew Gilchinst	30					33	
Planner	D: 14/7	4.5			0		10.5	D . 14
Project Controls	Brian Wilson	15	3		19.5			Business Man
Earthworks Super	Dominic Strickland				0	1.1		Project Eng
North Dam Manager	David Hernandez	12	5	5	29.5	1.1	32.45	RCC Eng -
North Dam Manager	Juan Manuel Chave	10	5	5	27.5	1.1	30.25	RCC General Su
Survey Manager	Ignacio Alvarez				0	0.7	0	
Equip Manager	Rocky Wells	25	5		32.5	0.7	22.75	
Supt 2						0.9	0	
Supt 3						0.9	0	
Supt 4						0.9	0	
Asst Supt						0.9	0	
Asst Supt					0	0.9	0	
Ttls	7	124	27	13	190.5	14.5	195.9	
							74	
				Max -	263 45			

Max = 263.45

Hydro years count 1.5 times total yrs "RCC" years count 2 times total yrs Note: